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QUESTION 1

The DB_BLOCK_CHECKING parameter is set to FALSE. 

What level of block checking will be performed? 

A. The Oracle database will not perform block checking for any of the data blocks. 

B. The Oracle database will perform block checking for the default permanent tablespace only. 

C. The Oracle database will perform block checking for the data blocks in all user tablespaces. 

D. The Oracle database will perform block checking for the data blocks in the SYSTEM tablespace only. 

E. The Oracle database will perform block checking for the data blocks in the SYSTEM and SYSAUX tablespaces. 

Correct Answer: D 

 

QUESTION 2

Examine the following ALTER command: 

SQL> ALTER DISKGROUP dgroup1 UNDROP DISKS; 

What is the purpose of the command? 

A. It cancels all pending disk drops within the disk group. 

B. It adds previously dropped disks back into the disk group. 

C. It restores disks that are being dropped as the result of a DROP DISKGROUP operation. 

D. It mounts disks in the disk group for which the drop-disk operation has already been completed. 

E. It restores all the dropped disks in the disk group for which the drop-disk operation has already been completed. 

Correct Answer: A 

 

QUESTION 3

View the Exhibit and examine the parameter settings in your server-side parameter file (SPFILE). When you tried to
start the database instance, you received the following error: 

SQL> startup ORA-00824: cannot set SGA_TARGET or MEMORY_TARGET due to existing internal settings, see alert
log for more information 

Why did the instance fail to start? 

Exhibit: A. Because the PGA_AGGREGATE_TARGET parameter is not set 
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B. Because the STATISTICS_LEVEL parameter is set to BASIC 

C. Because MEMORY_TARGET and MEMORY_MAX_TARGET cannot be equal 

D. Because both the SGA_TARGET and MEMORY_TARGET parameters are set. 

Correct Answer: B 

 

QUESTION 4

Which two statements are correct about database transportation? (Choose two.) 

A. The source and target platforms must be the same 

B. Redo logs, control files and temp files are also transported 

C. The transported database must have the same database identifier (DBID) as the source database and cannot be
changed 

D. The COMPATIBLE parameter must be set to 10.0.0.0 or higher and the database must be opened in readonly mode
before being transported 

E. Recovery Manager (RMAN) is used to convert the necessary data files of the database if the target platform is
different and has different endian format 

Correct Answer: DE 
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QUESTION 5

To accomplish user-managed backup for the USERS tablespace, you issued the following command to put 

the tablespace in backup mode: 

SQL> ALTER TABLESPACE users BEGIN BACKUP; 

While copying the file to the backup destination a power outage caused the instance to terminate 

abnormally. 

Which statement is true about the next database startup and the userstablespace? 

A. The database will open, and the tablespace automatically comes out of the backup mode. 

B. The database will be mounted, and recovery must be performed on the USERS tablespace. 

C. The database will be mounted, and data files in the USERS tablespace must be taken out of the backup mode. 

D. The database will not be mounted, and you must restore all the data files for the USERS tablespace from the backup,
and perform recovery. 

Correct Answer: C 
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